Compound 13

Mass: 459.32 g/mol

m/z: [M+H]= 460, [M+Na]= 482, [M+K]= 498

Intensity

2.356 Peak 1 - SQ 1. MS Scan 1: 150.00-650.00 ES+, Centroid, CV=30
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2.356 Peak 1 - SQ 1: MS Scan 1: 150.00-650.00 ES, Centroid, CV=30
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Compound 14
Mass: 409.53 g/mol

m/z: [M+H]= 410, [M+Na]= 432, [M+K]= 448

Intensity

3.034 Peak 1 - SQ 1: MS Scan 1: 150.00-650.00 ES+, Centroid, CV=30
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Compound 15

Mass: 309.41 g/mol

m/z: [M+H]= 310, [M+Na]= 332, [M+K]= 348

Intensity

0.430 Peak 1 - SQ 1: MS Scan 1: 150.00-650.00 ES+, Centroid, CV=30
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Compound 16
Mass: 409.48 g/mol

m/z: [M+H]= 410, [M+Na]= 432, [M+K]= 448

.4x107.0.992 Peak 1 - SO 1: MS Scan 1: 150.00-650.00 ES+, Centroid, CV=30 2 0x107-2:992 Peak 1.- SQ 1: MS Scan L 150.00-650.00 ES+, Centroid, CV=30
4x107 X
- 448.38 .
42x10 1.9x10
NG o 410.46
g 1.8x107]
71
3.8x10 1.7x1077
71
3610 1.6x1077
3.4x107 =
. 1.5x1079
3.2x107]
o 1.4x1077
3.0x107] e e
7 3x104
2.8x1079
2.6x107 1.2x1077
71 7
> 24x10 5 11x10
2 7 2 7]
§ 22a0 § 1010
£ £
= 2.0x107] = 9.0x10%9
71
1.8x10 8.0x105]
71
1.6x10 7.0x10%7
71
1.4x10 6.0x105]
1.2x1077 3
. 5.0x106]
1.0x107]
8.0x105 4.0x10%]
.0X. .|
6.0x106] 3.0x1089
4.0x1061 2.0x108]
2.0x10%] 1.0x10%] ‘
ool ‘ U R T by ‘ ‘ I D (RN WY N N O N T ‘
150.00 200.00 250.00 300.00 350.00 400.00 450.00 500.00 550.00 600.00 650.0C 200.00 250.00 300.00 350.00 400.00 45000 500.00 550.00 600.00 650.0C

mz mz



